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+T1 +T2 +T3
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+T4 +T5 +T6
123.4  + 2.3 + 75.7
+T17
41. 4 = 380.4
é 20
oy —5 474 Y — m 440. 0 440. 0 = 440.0
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TSHEF BV 7y b
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TSk F VA ks TR BIEY Ay R

L E = VEMKT T ® 20 ] 683 (60 + 244) X 2 + 75 = 683
TSHET VA k T LR

AL E = VEMKT T b 25 ] + X 2 =
TSHEF Vi h BEYAEZY R TR

B L = VEMRT T $ 40 (6 3057T2) M + + X 2 =

AR AT BX A~ CxAT
HE AL =V EYIW T $50LL T M 292 48 X 3@ + 3% X 40 + 3 X 2
DX AT
1 X 20 = 9292

HPPE FH

B RVAy KRR ESA T $ 100X ¢ 20 EER -
HPPE FH

B RVAy KRR ESA T & 75X ¢ 20 (EER 77 77 = 77
HPPE FH

B RVAy KRR ESA T $ 50X ¢ 20 (EER 10 10 = 10
HPPE FH

B RV KRR ESA T 6 150 X ¢ 20 (&30 -
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BEHI A AR B BEHR HIFEA

EERREEEL T Co t=10cmLL F m? 45.42 45
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SR T BH0.28m3, + m® 58.89 59
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AN T BH0.28m3, # Ak, v’ m° 36.87 37
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FAEHIERE T T (Bl ~RES) m® 58.89 59
HEH A Aot g

AL BH0.80m3, +#> (iEH) L—X m® 58.89 59
DT 4tf& BH0.80m3F&iA

B EE T T (RE G ~B) m® 0.00 0
DT 4tf4 BHO.28m3F&iA
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NI AR HAN
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NI AR HAN
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BH0.28m3 [EEEHRFIAEA

EEERREEEL T As t=10cmBL T m2 158 194 0.81 1.7 1.38
BH0.28m3 [EEEHRFIAEA

EEERREEEL T Co t=10cmPL T m2 45 194 0.23 1.7 0.39
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R L BH0.28m3 m3 59 85 0.69 1.7 1.17
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AN T. BHO0.28m3 %>/ SiRE m3 37 36 1.03 1.7 1.75
ekt
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+T 6.06 10.30
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A W=14mAws, AN AAN
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NI W=1.8mAs, 4 A
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